A WeddzyMe/nw |

/

—

~

by repast

FIFET Y BI1FET Y B2RETYTF-1 HIFFETIYF-1 FFEEFTVF-I TSE8HT YT
BR5Efm B 4R14H 4H15H TUE 4H16H WED 4H17H 4H18H 4H198 SAT
RS ¥ET>F/7 Y FBOXTY FEZ YT/ TBXY ¥ETYF/T Y FBOXT FEZ YT/ TBXY —3—37/3‘/7/9‘BOX7
LT 14—
= ~ " " = ~ " "= ~ " " = ~ " " = ~ " " = ij\)\y
§ ‘X — " IV — § ‘X — " IV — § ‘X
x4>7-:{az:-;+ew NINR=DTFTIY —-R NIN=D'FTIY -X NINR=DTFTIY —-R NIN=D'FTIY —-X NINR=DTIY —-R NV
&k A 590 5P AE[ U | e [mrE e 50 NE| A [ e [mrE e 5P AE[ U | e [mrE e 5P NE| A [ e mrE e 5P AE[ U | e [mrE e 50 NE| A [ e [mrE e
ololo] | FO\O\O\ | FO\O\O\ | FO\O\O\ | FO\O\O\ | FO\O\ \ | F
»0Y- / EH 880kcal 3.0 g 880kcal 3.0¢8 880kcal 3.0 8 880kcal 3.0 g 880kcal 3.0 & T90kcal 3.0¢g
Y1) ny 7~ FBOXH 7~ FBOXH
7 BOEB BOEBY = s >t
SRANEAL b -5t . i 5H T nroiENh biET
y 5'4:0)5'3 FYRY=2Z RINY =2 ANY ¥ LYY 18T Y F A - 6700
NYFXZa2— 0 [ E| % | e B e 0 | x| % | e B e 0 x| % | B e
670 o6 o = - AR -y oo o = -
»20V— / BH 820kcal 3.1¢g T6Tkcal 3.7¢ 850kcal 3.0 g
Z > FBOX9J Z > FBOX9J Z > FBOX9J
el kLT 4 2 . .
-t q:# (%27VX$_*‘\/_Z) e N
540M
50| hE| AU [ e [ErE Te 50| hE| U [ e [ErE Te 50| E| AU [ e [ErE Te
ololo | F olo| | o | F olo| | | F
»OVY- / EH 811kcal 3.18 836kcal 3.6 & T90kcal 8.9 8
hEd
B X
ﬂﬂﬁkﬁﬁ%%gﬁﬂ eI |
P | NE | 3L | Ceme |BRE 1€
olo | \ F
»0U— / &H 489kcal 4.7¢g
fnam
1B 440M
#WAREE490M
H0U— / A
Z > FBOXT Z > FBOXH Z > FBOX9 7 > FBOXd Z > FBOXE
b= RY—F%YHL — RY—F%YHl — RY—F%YHL — RY—F%YHl — RY—F%YHl — RY—F%YHl —
480M
5P AE[ U | e [mrE e 5P NE| A [ e |mrE e 5P AE[ U | e [mrE e 5P NE| A [ e mrE e 50| hE | AU [ e [mrE Te 50 g | AU [ e [mrE e
olo o \ HO\O\O\ \ HO\O\O\ \ HO\O\O\ \ HO\O\O\ \ HO\O\O\ \ H
20V— / &H 524kcal 2.2 & 524kcal 2.2 g 524kcal 2.2 8 R

Ee

B tALOBEC

B SHoRKEEEXEEALIHYET.
K)YmenuOREHRTINET. FOTTHEHLSEI .

BRFEHERY 527

RE A

8 (kcal) /1EA (=)

CRRIAR (180e)
RASTIAR (144cc)

288kcal
21kcal

2.2 8

B Y Y- B ZH IAKMAOIOY — - BALEL AU E L.



